
 

 

 



 

(Supplied with inverter) (Supplied with inverter)(Supplied with inverter)

(Supplied with rack) Self-prepared

Component parts

Tools

Connecting bar ×1 M4*10 Phillips screw  ×2 M6*65 Phillips screw ×2

Rack component ×2 Expansion bolt ×8
(M10*95 recommended)

Marker Hammer drill Rubber mallet

Wrench
M4 & M6 

Phillips screwdriver

Self-prepared

Bolt assembly ×8
(M10 recommended)

a b

c

d

 Use expansion bolt when the carrier is, for example, concrete ground, 
made of  materials.

 Use bolt assembly when the carrier is, for example, floating component 
and metal frame, made of hollow materials.

 Select an appropriate drill bit according to the bolt specification. In case of 
M10 bolts, the drill bit must be of .

 Select an appropriate wrench according to the bolt specification. In case 
of M10 bolts, the opening of the wrench must be of .



 

 

Horizontal Forward Backward

 

 

 

 



12

 
 

 
 

 



 

 

 



Cable binding position

300~350mm

 

 
 

Terminal baffle plate


